
G2(4).2 (mod 3)

blocks defect matrix

G : 1 3 14× 7
2 3 14× 7
3 0 3781 = χ9,0, ϕ6,0

4 = 3 0 3782 = χ9,1, ϕ6,1

5 1 3× 2
6 1 3× 2
7 1 3× 2

blocks defect matrix

8 0 94501 = χ30+, ϕ18+

2.G : 9 3 13× 8
10 1 3× 2

11 = 10 1 3× 2
12 1 3× 1
13 1 3× 1

Block 1: ϕ1,0 ϕ2,1 ϕ3,0 ϕ4,1 ϕ5,1 ϕ7,0 ϕ13,0

11 = χ1,0 1 . . . . . .
652 = χ2,1 1 1 . . . . .
781 = χ3,0 . . 1 . . . .
3002 = χ4,1 . . . . 1 . .
3004 = χ5,1 . . . . 1 . .
3502 = χ6,1 . 1 . 1 . . .
3642 = χ7,1 . 1 . . 1 . .
3644 = χ8,1 . . 1 1 . . .
6501 = χ10,0 1 . . . . 1 .

13002 = χ15,1 1 1 . 1 1 1 .
13652 = χ16,1 2 1 1 2 . 1 .
40961 = χ28,0 . . . . 1 1 1
41601 = χ29,0 . . 1 1 . 1 1
54601 = χ32,0 1 2 . 1 2 2 1

ϕ1,0 = 11
ϕ2,1 = 642
ϕ3,0 = 781
ϕ4,1 = 2862
ϕ5,1 = 3002
ϕ7,0 = 6491
ϕ13,0 = 31471



Block 2: ϕ1,1 ϕ2,0 ϕ3,1 ϕ4,0 ϕ5,0 ϕ7,1 ϕ13,1

12 = χ1,1 1 . . . . . .
651 = χ2,0 1 1 . . . . .
782 = χ3,1 . . 1 . . . .
3001 = χ4,0 . . . . 1 . .
3003 = χ5,0 . . . . 1 . .
3501 = χ6,0 . 1 . 1 . . .
3641 = χ7,0 . 1 . . 1 . .
3643 = χ8,0 . . 1 1 . . .
6502 = χ10,1 1 . . . . 1 .

13001 = χ15,0 1 1 . 1 1 1 .
13651 = χ16,0 2 1 1 2 . 1 .
40962 = χ28,1 . . . . 1 1 1
41602 = χ29,1 . . 1 1 . 1 1
54602 = χ32,1 1 2 . 1 2 2 1

ϕ1,1 = 12
ϕ2,0 = 641
ϕ3,1 = 782
ϕ4,0 = 2861
ϕ5,0 = 3001
ϕ7,1 = 6492
ϕ13,1 = 31472

Block 5: ϕ8+ ϕ14+

16381 = χ11+ 1 .
65521 = χ20+ . 1
81901 = χ24+ 1 1

ϕ8+ = 16381
ϕ14+ = 65521

Block 6: ϕ10+ ϕ16+

16382 = χ13+ 1 .
65522 = χ22+ . 1
81902 = χ26+ 1 1

ϕ10+ = 16382
ϕ16+ = 65522

Block 7: ϕ12,0 ϕ12,1

58501 = χ17+ 1 1
29251 = χ19,0 1 .
29252 = χ19,1 . 1

ϕ12,0 = 29251
ϕ12,1 = 29252



Block 9: ϕ20,0 ϕ20,1 ϕ21+ ϕ23,0 ϕ23,1 ϕ25+ ϕ32,0 ϕ32,1

121 = χ33,0 1 . . . . . . .
122 = χ33,1 . 1 . . . . . .
2081 = χ34+ . . 1 . . . . .
3645 = χ36,0 . 1 . 1 . . . .
3646 = χ36,1 1 . . . 1 . . .
5601 = χ37,0 . . 1 1 . . . .
5602 = χ37,1 . . 1 . 1 . . .
36401 = χ41+ . . 1 1 1 1 . .
43681 = χ44+ 1 1 1 2 2 1 . .
78001 = χ50+ 1 1 . . . . 1 1
40963 = χ52,0 . . 1 . . . 1 .
40964 = χ52,1 . . 1 . . . . 1
116481 = χ53+ 1 1 2 1 1 1 1 1

ϕ20,0 = 121
ϕ20,1 = 122
ϕ21+ = 2081
ϕ23,0 = 3521

ϕ23,1 = 3522
ϕ25+ = 27281
ϕ32,0 = 38881
ϕ32,1 = 38882

Block 10: ϕ24,0 ϕ29,1

12601 = χ38,0 1 .
20162 = χ43,1 . 1
32762 = χ46,1 1 1

ϕ24,0 = 12601
ϕ29,1 = 20162

Block 11: ϕ24,1 ϕ29,0

12602 = χ38,1 1 .
20161 = χ43,0 . 1
32761 = χ46,0 1 1

ϕ24,1 = 12602
ϕ29,0 = 20161

Block 12: ϕ27+

36001 = χ39+ 1
36002 = χ47,0 1
36003 = χ47,1 1

ϕ27+ = 36001



Block 13: ϕ30+

74881 = χ48+ 1
74882 = χ55,0 1
74883 = χ55,1 1

ϕ30+ = 74881


